TALLER 10 CICLO 4 28 -07-2018
RUBEN DARIO GRAJALES MORENO

RESOLVER 5 SUMASY 5 RESTAS

- EIERCICIO 16

Fallar la suma de:

L Bad2b—e; 2a+dbte. T —Tx—4yi63; 10x—20y—Bz; —Hx+24y+9e

o Te—4b+5e —Taldb-Ge. 8. —=2m4in—6. 3m—8n+8; —~bmn~10,

1 mdn—p; —m—n+p. 0, —ba-3b-3c; Ta—3b+ic; —8a+5b—8¢,
4 Ux—3y+5: —x—yid; ~hHxpdy—9. 10.  ab+beted; —Sab—3be—3cd; Sab42bed N
b adb—c; 2042062 —3a—b+3e. 1.  ax—ay—az; —bax—Tay—Gaz; 4ax+9ay+Kay
0 phgtr =20—64+3v; pi-5q-8r. 12, Ox—=Tp+8: —y4ti—4x; 9—3x+8y.

15, —am v lmn-As; 6s—am—amn, —25—3mn-+3am.

14 Za43b; bh—4c: —ate.

16 Gn—3dn; —dnbapn —~m—=6p.

1 2a4-386; de—4: Sa+6; Te—9.

17, 2x—dy; 52+9; 6x—4; 3y—5.

18 Sed3b—c; da—b+e; —a—b—e; Ta—-bi4c.

19 Tx+ly—4; Sy—0x+5; ~y43z—6; —5H+8x—3y.

2 mmenepl mA2n—=5; Yp—6m+4; 2n-Hm—8.

2], t—=Ja"—Ta": —Ba*+-hHav—9a% —]11la'4-5a"+10a6".

V0 Gt Tt R Gt Y, A =T e A R B L Qe 1 2L D 0 8,
W Bxcbybrtag —3x—4y ~2003u; dx+hy+3t—du; —ix—y+z2u,
M wlhecld; a=bic—d; —2a+36~2%+d; —3a—30+1c—d.

M Dab—3bctded; Qe 2ed~3de; Abe—2ab+3de: —8he—Ged—ab.
W a=b; b=c; c4d; a=c: c—d; d-~a: a-d.

& EJERCICIO 25

Restar:
1. 2a* de 2ot — 20 ¢ 2a—Sbticdeat+b—c
Z—;-a-%b de Ba + 60— 0. bm+n—p dc%m-l—-?:-n-f--:;p-
3 -}x’y de x% -:-x’y-(i. 6. %a“—-%ab” + 6 de -:-azb-i--}-ab*—ls-.

7. —m'+ -:-mzn’ - -:«mn’ de 'El-vm’n + ‘%m*n’ - %—mn‘ - B.

8. -3--&-—:-:’7"—-:-:" -—;-x" de -v:-x‘y-i- -l-“—a‘)*” +%—x‘y’+-;:-xy‘— 7.

0. xn %—x‘y’ 1 ﬁx’y‘ ~y' 4 xy de ;:-x‘y + -;‘:-x‘y’ - -%—:‘y" — x3y% 4 xy® + ;’;y".
10. -—?,—x“‘y+ —f-xy’--:-x‘*- 6 de —szy’—-:-x’y-i-%x‘-{;y’—%.
. - -%m‘ + -:—n" -%m*n’ + ﬁ-m’n‘ - % de ;’;m‘rﬁ - v:-m”n‘ o+ -:—n".

o a 3 a 3 1 1 T 7
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